The Hy-tower base assembly has been changed.
Substitute this drawing for figure 2 on page 3.

o o
L e L
s

L

64

63

COAX
FEEDPOINT

48

59




See Below

The tower plates inside the Hy-tower have been
improved. The new plates are made from one leg not shown
stainless steel. Install the lower plate as shown
in the diagram. One X has been left out of the o S T >
Top section o dllow for easy installment of the i
lower ( larger ) friangle. Install two spacers
petween the triangle tab and the tower leg. °
Lower Plate ||| ... _
The upper plate should be installed with the ‘el

friangle tabs on the outside of the tower legs.
Use the 1/4-20x 1/2 bolts for the upper (small)
fiangle. Make sure that both of the triangles
are oriented the same wav.

w O~ O C}~Ithg§

506708 Part # Description

Top Plate J 502958  1/4-20 X 1 bolt
. 7153159 Spacer
5% 561177 split washer
N 561177 554099  1/4-20 nut
\ 506708 1/4-20 X 1/2 bolt
554099
tower leg
tower legs fit inside 502958 ?;p%%? Tt

tab and lip of triangle

A
o

554099

961177

lower plate




	image.bmp
	image (1).bmp

